import secrets
import random
def randms(x):
i=0
while i<len(x):
sign=random.randint(0,10)
if sign%2==0:
X[i]=secrets.randbelow(200)
else:
X[i]=-1*secrets.randbelow(200)

i+=1

ms=[6,7,4,7,4,6,4,6,3,67,3,7]
randms(ms)
print(ms)

i=0
counter=0
summa=0
while i<len(ms):
if msl[i]%2==0 and ms]i]>0:
msl[i]=ms]i]/2
elif ms[i]%2==1 and msJi]>0:
msl[i]=msJ[i]+2
else:
msl[i]=msl[i]*(-1)
i+=1
print(ms)
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while i<len(x):
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if sign%2==0:
X[i]=secrets.randbelow(200)
else:
X[i]=-1*secrets.randbelow(200)
i+=1

ms=[6,7,4,7,4,6,4,6,3,67,3,7]
randms(ms)
print(ms)

i=0
counter=0
flag=0
while i<len(ms):
flag=0
if flag==0 and ms[i]%2==0 and msJi]>0:
msl[i]=ms]i]/2
flag=1
if flag==0 and ms[i]%2==1 and msJi]>0:
msl[i]=ms][i]+2
flag=1

if flag==0 and not (ms[i]%2==0 and msJ[i]>0 or ms[i]%2==1 and ms[i]>0):

ms[i]=msJ[i]*(-1)
flag=1
i+=1
print(ms)
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def randms(x):

i=0
while i<len(x):
sign=random.randint(0,10)
if sign%2==0:
X[i]=secrets.randbelow(200)
else:
X[i]=-1*secrets.randbelow(200)
i+=1

ms=[6,7,4,7,4,6,4,6,3,67,3,7]
randms(ms)
print(ms)

i=0

counter=0
while i<len(ms):

if ms[i]%2==0 and msJ[i]>0:
msl[i]=ms]i]/2
i+=1
continue

if ms[i]%2==1 and msJi]>0:
msl[i]=ms][i]+2
i+=1
continue

if not (ms[i]%2==0 and ms][i]>0 or ms[i]%2==1 and ms[i]>0):
msl[i]=msJ[i]*(-1)
i+=1
continue

print(ms)



